

$$(18) (x+a)(x+iv) =$$



$$(19) (1a-r)(1a+1r) =$$

$$(20) (1y-v)(1y+1r) =$$

$$(21) (\sqrt{1m}-v)(\sqrt{1m}+v) =$$

$$(22) (a+\frac{1}{a})(a-\frac{1}{a}) =$$

$$(23) (\frac{x}{a}-1)(\frac{x}{a}+1a) =$$

$$(24) (ab+1)(ab-1) =$$

$$(25) (1 \cdot a^r - \frac{1}{ab})^r =$$

$$(26) (a+\sqrt{1r})^r =$$

$$(33) (x+y)^2 =$$

$$(34) (x+z)^2 =$$



$$(35) (\sqrt{a} - \sqrt{b})^2 =$$

$$(36) (1 - \frac{x}{y})^2 =$$

$$(37) (x^2y - xy)^2 =$$

$$(38) (\sqrt{x} - a)(\sqrt{x} + a) =$$

$$(39) (\sqrt{p} - \sqrt{q})^2 =$$

$$(40) (x^2 - 3)(x^2 + 1) =$$

$$(41) (x+4)(12+x) =$$

$$(K1) \left(ka + \frac{1}{k} \right)^r =$$

$$(K2) (1 + \omega x)^r =$$

$$(K3) (r - \sqrt{r})^r =$$

$$(K4) \left(y - \frac{\sqrt{r}}{\omega} \right) \left(y + \frac{\sqrt{r}}{\omega} \right) =$$

$$(K5) (y - rx)(rx + y) =$$

$$(K6) (ab - a^r)(ab + a^r) =$$

$$(K7) (\sqrt{r}y - v)(\sqrt{r}y + v) =$$

$$(K8) \left(\frac{x}{\omega} - 10 \right) \left(\frac{x}{\omega} - 9 \right) =$$

$$(80) \left(\omega x - \frac{1}{r} \right) \left(\omega x + \frac{1}{\omega} \right) =$$

